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( ) L P ABCD = IR AL 2) . B(5,-2), C(4D), HIDI I41%
BE-3 @2-) 305 @21 .
G I
[if] SOL —
%D%@iﬁﬁ(x,y) ; ,TDz(x—l,y—Z), B?z(—l,S)
AD=BC .. x=0, y=5 = 4[D(0,5)
SOL = :
2 B I ) :{“4:5” (%)= (05
2+1=-
( ) 2. F%?:(z,—@, D =(-58), “365a+2Vv)-43VvV-Db)=0, [V =
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1) (_E’E (2) (5,—?) (3)(—51—?) 4 (gv?) ) (25) .
Ul 2
[#+r] 35a+2v)-48v-b)=0 = 15a+6v-12v+4b =0

= 6V =15a+4D =15(2,-4)+4(-58)=(10,—28) = v = (%,—%)

()3 FRIE R =03, D =@,

azv‘:
M2v5 (25 )43 (4)5V2 (5)5V3 .
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L] a+2D =(13)+23,-1)=(7.1) -

?+z?‘=\/72 +12 =50 =52

( ) 4. A(-3,2), B(L-1), C(7,-3), ¥ PA+2PB+PC="0 , [P I L&ty
W63 @23 @C-D @WE-D) 6)6-3) .
2 4 4 2 2 4
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[i5]  #P(xy) PA+2PB+ PC = (-3-%,2—-y) +2(l— X,~1- y) + (7= X,~3—y)
3 3
=(6-4x,-3-4y)=(0,0) » (x,y)= (E’_Z)
( ) 5. F%ﬁ}ﬂf:-ufig,cﬁ:(xﬁ), OB=(2,3), OC=(8x) (x<0) = AB,C = BIFHAEL, Il x
s ()-1 (-2 (3)-3 (4)-4 (5)-5 .
[Eﬁé'ﬁ] 1
[if7]  AB=0B-OA=(2-x-2), AC=0C-OA=(8-xx-5)
ABCZHifi o ABIAC < AB=KAC

El[Jﬂz_—z = (2-X)(x-5)=-28-x) => x*-5x-6=0
8-x x-5
= (x-6)(x+)=0=> X=—1,6(Tﬁ ox<0)
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72 10 53 )
=(2-3), b =(-12), %5
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=-2a, 2u—v=?, ]|

2. AABCII, A(03), B(-L-1), C(-2,4), FIA ABC I i 1481,

[Eﬁr[ (_112)
O (O+( 1;+( 2)’3+( 1)+4) (-1.2)
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3. F%?z(wr y—-2,3x+y-1), ?:(2x+3y,x—2y+1) , %'[?z b, HIEFER (X, y) =
[Eﬁgﬁ] (10,-6)
[#EfT]  (x+y-2,3x+y-1)=(2x+3y,x-2y+1)
{x+y—2=2x+3y

x=10, y=-6-.. (X,y)=(10,-6
3X+y-1=x-2y+1 (6 ¥) = )

4. F%?:(l,—l), D =(23)"2x+3b-a)+3(x+2a-b)=43D+2a)-5x , [
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[igpr]  2(X+3D-a)+3(x+2a-b)=4@b+2a)-5x

(5] (5.2)

— 2X+6b-2a+3x+6a-3b=12Db+8a-5x
—_ 12
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= 10x =9D+47a =9(-2,3) +4(L,~1) = (-14,23) =
5. F%?:(1+3t,4+t), D =(-2), “Igalb , FHt=
(] -2

i Y 1+3t 4+t

5 2
= “1lit=22 = t=-2

= -2-6t=20+5t
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6. A =(4, 1), b =@ 5, tmdm, “ig(a-tb)LDb, Ftl.

[iz#] a-tb =(4-3t, 1-5t),
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(a-tD)-b =3(4-3t)+5(1-5t) =0, t:%.

7. #0(0,0), A2D, B(-1-2), C(-10), xeR, %
(x2 —3x+ 2)OA+ (x —1) OB+ (x* —2x+1)0OC = 0 , HI x 7 fifi £

CEpfiE)
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[##47] OA=(21), OB=(-1-2), OC=(-10)
(x2 —3x+ 2)OA+ (x —1) OB+ (X* —2x +1)OC = 0
= (2X-6X+4-x+1-X +2X-1, X —3X+2-2X+2+0)= 0
= (X*=5x+4,x* =5x+4)=(0,0)
X*=5x+4=0 = (x-D)(x-4)=0 = x=1f4

8. ¥\ ABC [l1, j*=% AB(fi AD=3AB , j AC [l AE=4AC , CD < BE ffl

LIP, ¥ AP=xAB+yAC, [[(xy)=

e 9 8
JEEAPN —,—
[Fﬂl (11 11)
(] A2, A(0,0), B(L0), C(0,1) = DEO0), EO0A4)
KXY
CD:—++-=1 = x+3y=3
3 1
<_I§:§+l=1 = 4x+y=4
1 4
9 8 — 9 8 9 8 9 — 8 —
VHXxX=—, y=— » {JAP=(—,—)=—(1,0)+—(0,1) =— AB+—AC
H 11 y 11 . (11 11) 11( ) 11( ) 11 11

12 11 4 . _
9. #ADEF I, D=2, EE,D), F1--G(3,3), [ F ey
EAN Fl (3 3) (3 3) El 3.3, [ &

(Ef1 67
G DE.S) . ECD), FE(xY), FIr=GE3

33 EGg
1 11 2 4
S+ 4X S4—+y
33 =323 3 235 Fy)=67)

10. #A(-2,5), B(43), P AB -5 AP:PB=1:2, [PV 148t - ()

N 13, .
[Efi{ﬁ] (0,3) FY (-8,7)
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i P(xy)
X:1><4+§><(—2):O
OF P57, AP:PB=1:2 - |
b PRI Hl 1e3e2x5 13
3 3
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A(-2.5) PG y) B4 3)

@F PILY5TE, AP:PB=1:2 [||AP:AB=1:1
Ix4+1xX

B e A
2 N X=-8
5_1x3+1><y y=7
2
P(x  y) A(=2+ 5) B(4-3)

e e g L3N
P E’!TQT—EPH (0,3) 59 (-8,7)

11. ??:(1,1) , D =(23), © =(-4-7), HEHET, s{F C=ra+sb, [
(r,s)=

[Eﬁé'ﬁ] (2,-3)

[igf] ©C=ra+sb = (-4-7)=r(L1)+s(23)=(r+2sr+3s)
r+2s=-4 r=2
r+3s=-7 ~~ |s=-3

13. ¥ A@3,2), B(5,-1), C(-14), “I*12AB=CD, [ D 1443

[EF—JPF&T] (3-2)

U] 2D(xy) > HI2AB=2(2,-3)=(4,-6), ED=(x+1y-4)
2AB=CD = (4,-6)=(x+1y-4)

X+1=4 X=3
{ TS { o, DL E2)

y—-4=-6

Vv

14 % U+ VvV =(23) "30u+2V =(-1,-2), U = o

—

L7 U =(-5-8), Vv =(711)

L l:r Vv :(2,3) ...... ©) e—0x2 f%?z(—S,—S) e (D’r%'T:(?,ll)
3u+2v =(-1,-2)-----®@
15 TAgd el AL B, C, DERRT SPURFAVTRE SPTAR, -T),
B(_S, 0) y C(—4, 3) y ﬁ“\‘D%ﬁﬂsj;@ . (E Eﬁ)
(31 (DA -4):)DE, -10);3)D(-9, 10)
[iEdr]

A, B, CZRifERg, BiDF= WREEIRIA, B, C, D SPuRy,
1) = I’%p“liﬁgﬁéABCDE\j]‘, DA -4).
(2) * =47 ACBD I, D(3, -10).
(3) * i ABDC 1, D(-9, 10)
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